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Risposte

1. 13.270

2. 12.301

3. 11.852

4. 6.679

5. 10.654

6. 4.884

7. 11.972

8. 9.944

9. 10.358

10. 14.584

11. 18.701

12. 12.932

13. 13.220

14. 5.978

15. 7.629

16. 6.453

17. 3.281

18. 13.647

19. 11.346

20. 10.890

Risolvi ogni problema.

1) 7.389 + 5.881 = 13.270

2) 6.268 + 6.033 = 12.301

3) 8.956 + 2.896 = 11.852

4) 5.654 + 1.025 = 6.679

5) 6.486 + 4.168 = 10.654

6) 3.090 + 1.794 = 4.884

7) 9.325 + 2.647 = 11.972

8) 8.593 + 1.351 = 9.944

9) 9.110 + 1.248 = 10.358

10) 8.994 + 5.590 = 14.584

11) 9.640 + 9.061 = 18.701

12) 7.517 + 5.415 = 12.932

13) 7.724 + 5.496 = 13.220

14) 4.357 + 1.621 = 5.978

15) 3.947 + 3.682 = 7.629

16) 5.313 + 1.140 = 6.453

17) 1.942 + 1.339 = 3.281

18) 6.990 + 6.657 = 13.647

19) 6.360 + 4.986 = 11.346

20) 6.432 + 4.458 = 10.890
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Risolvi ogni problema.

12.932 18.701 6.679 4.884

13.270 11.972 14.584 10.654

12.301 10.358 11.852 9.944

1) 7.389 + 5.881 = 13.270

2) 6.268 + 6.033 = 12.301

3) 8.956 + 2.896 = 11.852

4) 5.654 + 1.025 = 6.679

5) 6.486 + 4.168 = 10.654

6) 3.090 + 1.794 = 4.884

7) 9.325 + 2.647 = 11.972

8) 8.593 + 1.351 = 9.944

9) 9.110 + 1.248 = 10.358

10) 8.994 + 5.590 = 14.584

11) 9.640 + 9.061 = 18.701

12) 7.517 + 5.415 = 12.932

Risposte

1. 13.270

2. 12.301

3. 11.852

4. 6.679

5. 10.654

6. 4.884

7. 11.972

8. 9.944

9. 10.358

10. 14.584

11. 18.701

12. 12.932

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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